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int x;

BLAZEHDEEHI
int data[10];
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int  data[5];
float x[1000];

EE:
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data[0] = 1;
data[1] = 3;
data[2] = 0; 5{&
data[3] =-3;
datal[4] = 2;
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int x=0;

RINEBDIHE

int a[5]={1,3,2,0,-1); <mm)
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a= { 1I 3; 2; OI -1}1
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int a, sum=0, data[10];
double average;

for (i=0; i<10; i++)

{
printf(“%d A B D =8 7,i+1);
scanf(“%d”,&a);
data[i] = a;

}

for (i=0; i<10; i++)
sum = sum + datali];

average = (double)sum / 10.0;

printf(“SE14 B & %f T, ”,average);
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#include <stdio.h>
#define

void main()

{

MAX 1000

inti;
double a[MAX];

al0]=2;

for (i=1; i<MAX; i++)
a[li] = a[i-1] /3.0+ 3;
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main()

{
int x[5];
inti;

for(i=0;i<10 ; i++)

x[il =1i;

main()

{
int x[5]={2,4,6,8,10};
inti;

for(i=0;i<10 ; i++)
printf(“%d ¥n”,x[i]);
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BOF(Buffer overflow)

I

AEYTR, EHIH IR (TOTFL) BRFIEN TS
BEREEh TS

SILABEIS
THEEMLTFEE )i;[”]tht,
5825

BEOHDTOYSLIC
ETMA D LA AR




